E490 = ERE

5=

A7) INTZAKRE

TR30%F1A8B (AH)
FBETREAREE
[BF]
A/S—hk 1 2 3 B | Bsm | B85 | IER
A KEH T #—
1
NTTEHAX NTTEB X @ @ 12/2) 2 0 1
#FKRK EBEX Al E— @
2 1 3 [([0/2] O 2 3
#REE0B #RFE0B /
A EX TH B
3
EFE2E EFEZE 0 @ 172 1 1 2
@
B/\—k 4 5 6 B | Bia | 8BS | IELL
Tk BIF NE EBA
4 1 11/2] 1 1 2
BifEXZE BifEXZE @ /
JEYl —H® FE EFE
5 .
ERT=ATUY57 #EE0B 0 0 107210 2 3 0
LH RE #0O H#AH
6
Banz AV Y F @ @ 272 2 0 1
C/8—F 7 8 9 B | Bsm | B85 | IER
A #BA g —5
7
MITLET MIZUNO @ (1721 1 2
Hl = ZH &
o Sl =X | *Eﬂ_x 9 2 lo/2] o 9 3 3
BEmYINT=RER| |BEmYINTRER
& X hft Ef
9
#RFE0B BARAKBEXRE @@ 2/2| 2 0 1
1
D/\—k 10 11 12 | BFE | s | &8 | IEA
BEE &%F H0O ifE—
10 2/2| 2 1
EESTIP S AVyYaMy'F @ @ / 0
B KIE R
11 0 0O |0/2] O 2 3
FFKE FIFKE / @
g EF A B
12 . 1 1/2 1 1 2
I EE TR MPEESK @ /
B B A KBA T #— (NTTEHEAR) - (NTTERHEX)
R BES #&%F H0O #E— ARYIR) = (A¥9Y245°F)
3 fu L5 RFE H0O M (Banz) = (A¥9Y249°F)
3 I & X hi Ek (#RfH0B) * (A RIKB XE)

IR 15:12



